(Models: F263-EU, F263-EU BLK, F263-HE, F263-PB)

Sahara 230V TurboDryer

Symbol Definition

- multiple components to choose from for different models: voltage, size, color, et

- if you order this item, you may need to order additional items marked with same number of +'s in order
to upgrade or complete repair

Find# Part Description Specifications/Model Part # Qty
19|Cord Strain Relief Snap .400 Dia Blk 02-00005 |ea. 1
8|Switch Rocker Spdt 115/230v w/splashguard 02-00258 |ea. 1
5|Washer - Motor Mount 1/4 SAE - 5/8 SS 03-00018 |ea. 4
4|Rivet - Motor Mount 1/4 x 1/2" St/Stl Zp 03-00022 |ea. 4
28|Screw #8 x 1/2 Phil Ph Zp 03-00023 |ea. 4
26|Washer 1/8" Rivet Washer 1/8 ID x 3/8 OD x .06 Zp 03-00035 |ea. 4
27|Rivet 1/8" x 1/2" Al/Al 03-00036 |ea. 4
29|Rivet 3/16 x 3/8 Al/Al Blk Anod 03-00037 |ea. 4
22|Foot Round 3/16 ID x 1.25 OD x 5/8 Rubber Blk 03-00131 |ea. 4
14 [Rivet 3/16 X 5/8 Tri Fold AL/AL 03-00204 |ea. 8
3|Screw - (Switch) #6 x 3/8 Pan HD Phil SS 03-00566 |ea. 4
Cable Tie 11" 03-00813 |ea. 1
23|Screw #6 x 7/8 Phil HD Zp 03-01003 |ea. 4
Rivet 5/32 x 3/8 AL/AL BIk Anodized 03-01482 |ea. 1
20|Power Cord Assy 3 x 1.5mm HO5VV CEET7/7 25 Ft 04-00057 |ea. 1
Bag, Plastic Shipping, 23 x 48 x 17 Poly 1.5 Mil 06-00045 |ea. 1
24|Label Warning Turbo Indoor/Outdoor 07-00109 |ea. 1
10|Label Sahara Product 07-00157 |ea. 1
18|Label Model/Serial 230v CE Turbos/DriTec 07-00161 |ea 1
Insert Declaration of Conformity Turbos 07-00173 |ea. 1
Owner's Manual 230V, CE Turbos/Vortex 07-00213 |ea. 1
13]|Grill, Snout ABS Blk Turbos 09-00033-01 | ea. 1
9|Sahara Switch Plate ABS Blk Sahara 09-00035-01 | ea. 1
21|Grill, Venturi Side Wheel Side, ABS plastic 09-00042-01 | ea. 1
2|Grill, Motor Side ABS plastic 09-00045-01 | ea. 1
1{Motor Assy 230v 3/4 Hp 1350 RPM 50Hz, 2 Spd 09-00065S |ea. 1
16|Housing Polyethylene Black (F263-EU BLK) 10-00903-07S] ea 1
16|Housing Polyethylene Rein Orange (F263-HE, PB) 10-00903-095S] ea. 1
17(Baffle Plate ABS Blk 10-00951 |ea. 1
Housing Kit, Sahara Poly Blue S119 ea. 1
Carpet Clamp Retrofit Kit S127 ea. 1
Quick-Stand w/ Feet 5128 ea. 1
Wheel Kit 9 1/2" x 9 1/4" Polypropylene S137 ea. 1

Sahara 230v (F263) Page 1 of 2




Sahara 230v Pictorial Drawing

FRONT VIEW STDE VIEW FB3C

Sahara 230v (F263)

Page 2 of 2




